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Please check that this question paper contains 27 printed pages.
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Q.P. Code given on the right hand side of the question paper should be written
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Please check that-this question paper contains 35 questions.
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fora |
Please write down the serial number of the question in the
answer-book before attempting it.

(v) 39 TH-9F I Ted @ fore 15 fire o1 aw feon mn g | weA-ud o foawor qats o
10.15 St fohaT ST | 10.15 S & 10.30 Sl T ST hadl JH-97 i g 3R 39
31afYy & GHH o IT-YEIehT W I3 I a1 foaE |
15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 am. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.
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(ii)
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(iv)
(v)
(vi)
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(ix)
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39 J97-Y7 4 35 Y97 & | @4t 337 AIfAard & |
T8 Yo7-97 Qi @US] A [q9Sid 8- &, &, T, 909 & /

GUE F 4 Jv7 G&7 1 & 18 7% Fglascdid (MCQ) FHR & Uh-Uak 3% & J97 & |
GUE & 4 97 &7 19 T 25 % 37id TG-FT0T (VSA) THR & §1-31 371 & Fo7
&1

GUE T T T97 T&I7 26 T 30 7% TY-ITHIT (SA) FHR & diA-adl7 375 & T & |
Qe T 4 77 &7 31 G 33 % 15-3709 (LA) FHR & gia-gia 37 & 397 8 |
GUE & 7 Y97 T&IT 34 797 35 HG-3EIRT TR-<T 3H] & T97 8 |/

97-97 7 GHY [dHeq 787 1097 T 3 | e, @vs & F 2.5 4, @US T & 2 ¥
4, @8 g %3 Y% Faq @S & &2 e 7 HaR® 1aheq &7 JIGe 1397 7137
g/
Fepaict & 3T Tfdd & |
Yilae HIaiel @& i am, Tavgesal STTar ITIT & :

c=3x10% m/s K\Q&Q

h = 6-63 x 10—3@%

¢
e=16x1
%*

Ug = 4m ><§0‘7 T mA™!

gp = 8:854 X 10712 C2 N1 m~2
1

471:80

= 9% 107 N m?2 C2

S 1 GoIHM (my) = 9-1 x 1073 kg

=g Wl GeI0H = 1-675 x 10727 kg

Tei T gea|H = 1-673 x 10727 kg
JTENTIET T&AT = 6-023 x 1023 ufeq I W (per gram mole)

Siees ™ fam = 1-38 x 10723 JK1
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 35 questions. All questions are compulsory.
(it)  This question paper is divided into five Sections - A, B, C, D and E.

(iti) In Section A - Questions no. 1 to 18 are Multiple Choice (MCQ) type

questions, carrying 1 mark each.

(iv) In Section B - Questions no. 19 to 25 are Very Short Answer (VSA) type

questions, carrying 2 marks each.

(v)  In Section C - Questions no. 26 to 30 are Short Answer (SA) type questions,

carrying 3 marks each.

(vi) In Section D - Questions no. 31 to 33 are Long Answer (LA) type questions

carrying 5 marks each.

(vii) In Section E — Questions no. 34 and 35 are case-based questions carrying

4 marks each.

(viit) There is no overall choice. However, an internal. choice has been provided in
2 questions in Section B, 2 questions in Section.C, 3 questions in Section D and

2 questions in Section E.
(ix)  Use of calculators is not allowed.

Use the following values of physical constants, if required :
c=3x10%m/s
h =663 x 104
e=16x10C
Wy = 47 x 10~ T'm A1
gg =8-854 x 10712 C2 N1 m~2

1

4
me

=9x10° N m?2 C2

Mass of electron (m,) = 9-1 x 10731 kg

Mass of neutron = 1-675 x 10727 kg

Mass of proton = 1-673 x 1027 kg

023

Avogadro’s number = 6-:023 x 10“° per gram mole

Boltzmann constant = 1-38 x 10723 JK 1
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1. el oY fagd foga = 1@ W 3e8 v gt W fed is fog stmaw F oet ol
IS HAT 2 | ARG AW H g 2 &, Al &Y gR WS TR I e
o BT

F F F F
2. Tt arfcass et o fQ, @@ T & @ gfaUy R o @@l fo=mor st fHefuq
T AT T 2
R, R, R4 Ra
7 N
T aw Y T am b T aw AT gw O F
(a) (b) (c) (d)

3. frfigaufuydfrdt da & i & fiw fAwEFR 8 VR IS @ aad A 4 A
I Al STl 3 @1 fIweaT=at gt 4 V8l Sara | 38 3 ol AT=dieh Il 2 :

(a) 4Q (b)§; Q (c) 2Q d 1Q

Q
s feh g %, PR ST W G (A) T R 3 g R
ﬁwaaw%ﬁ Hi8 TR g TR & W R | A S Bed % w9 § g
'::»Q'IO@HI Ed aqq@\ﬁg (vd)éﬁqﬁmwﬁ TR ST HehelT 8

LN, T L

A A
(c) (d)

5.  Tortlt Sfagrerehia ggredl ol Tohdll B ek o I AT SIeA0T gd o THehe M
T E | T8 9erY
() T gat gro wfoefia foram sma |
(b)  TFI gl g SAThNA femam ST@m |
(c) 3T ga g UfehfNa qm SHAvT ga gRT STTehia feoham STQrm |
(d) I gd gRI ER{YA AT S0 ga gRT fcrehiyd fepam Sarm |
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SECTION A

1. A point charge situated at_) a distance ‘r’ from a short electric dipole on its
axis, experiences a force F . If the distance of the charge is ‘2r’, the force
on the charge will be :

F F F F
a — b) — c) — d —
(a) 16 (b) g (c) 1 (d) 2

2. For a metallic conductor, the correct representation of variation of

resistance R with temperature T is :

RA Rz\ RJ‘\ Rf\

@ @ ® o)

= - - :

3 3 3 3

[#2] wm w w

g .g .% Y

a1 ax ot o

+—>T T - T C T
Temp. Temp. Temp. Temp.
(a) (b) (c) (d)

3. The potential difference across a cell in an open circuit is 8 V. It falls to
4 V when a current of 4 A is drawn from it. The internal resistance of the
cell is :

(@) 4Q (Q@% Q © 20Q @ 10
N

4., A steady current r@%ws through a metallic wire whose area of
cross-section (A) intreases-continuously from one end of the wire to the
other. The ma@ ude of drift velocity (v,) of the free electrons as a

function of ‘A’ can be shown by :

vd vd vd 1 vd
9N /
A A
(a) (b)

-

A A
(c) (d)

5. A diamagnetic substance is brought near the north or south pole of a bar
magnet. It will be :
(a)  repelled by both the poles.
(b)  attracted by both the poles.
(c) repelled by the north pole and attracted by the south pole.
(d)  attracted by the north pole and repelled by the south pole.
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6. I3 JATRR FUScl FTEehl AT 8-0 cm & AT NTEH 40 W &, 79 HEATeR =FH
¥ i@ 22 e iy Qwvs 4 FONT = @ 3-0 x 10-2 T GRATT % R
THEHH &fdel greehi &9 § YU R T 7 | 39 Fusel § UG SAfereRan
a4 s (emf)%:

(a) 012V (b) 015V
(c) 019V d 022V

7. @ ¥ el @R 9@ PSRQ 1 g@iin T g fSew wfaum g PQ &
gfeig 4’ & a9 PSRQ 1 UieY 3U&oia & | & PQ &1 97 v & T s STl
2l Ui fa.a1. 9 (emf) =1 giwmor F=fefaa § @ forg ot fsft 787 a2 2

X X X X X X

S |
xTx 7
x | x

<
L
.~

X

M

X X
X X X X
X X X X

X X X X

X XX X

X X
44—
X X
X X

X xxTxx X
XX X x X|[Ux

X X X X X X
< X >

(a) g & (B) b) ()
(¢ gfay (r) @ PQH s

8.  fortht menfisy st STz o &l Ulshar 4, Tamia i ufgwme & T Iod
ﬁ'@ﬁ%ﬁ%

X

dog 1 dég
@) Ho—g~ b w
dog 1 dog
©  fog S

0

TEl Tdlohi o G 319 & |

9. wwE gl ¢ % el Fadd Uu & fou fare 3R 3ges aredfos gldfers
1= <hl =[Faw gl Bl 2

(a) A (b) f
() 2f (d) 4f
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6. A circular coil of radius 8:0 cm and 40 turns is rotated about its vertical

diameter with an angular speed of 20 rad s! in a uniform horizontal
T

magnetic field of magnitude 3.0 x 1072 T. The maximum emf induced in

the coil is :
(a) 012V (b) 015V
(c) 0-19V d 022V
7. Figure shows a rectangular conductor PSRQ in which movable arm PQ

has a resistance ‘r’ and resistance of PSRQ is negligible. The magnitude

of emf induced when PQ is moved with a velocity ¥ does not depend on :

X X X X_%X X X n[nX X
S | N P
xTx X X X X X |[Xx X M
X Ix |Ix x X X X |IX X
AN vV 4—
X x I % % x ® |Ix X%
XIxX [[X X X X X |[[x x N
X ¥ X X X X % J(‘,?Z X
< X S

(b)  velocity (V)
(d) length of PQ

(@) magnetic field (B)
. O
(c) resistance (r) Q}%

S

Z

8. In the process of@i‘%rging of a capacitor, the current produced between
the plates of thé%apacitor is:

do 1 do
(a) py—= (b) — &
dt Ho dt
do 1 d¢
_'E ) —_E
() g % (d) oy
where symbols have their usual meanings.
9. For a concave mirror of focal length ‘f’, the minimum distance between
the object and its real image is :
(a)  zero (b) f
(c) 2f (d)  4f
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[O]%0)]
w0

o

BISEINM U] o dR Hisd H ndl wen i B fefafga o @ fraes
HHTIATAT Bl 2 ?
(a) iz (b) 1

n n

(c) 2 (d n

]

BISGISH THTY] AT TR fan ofawen | fohefl BiciH i STaeiya hidl &
S 38 n = 5 T G I L <l 3 | 38 BISH ol auTeed 8 :

(a) 975 nm (b) 740 nm

(c) 523 nm (d 95 nm

CSIHE G&AT A o 113k ohl ZedHH T
(@) AY3 & gurardt gt B
b)  A%/3 & gurard g ?

S
e ac§§§vﬁﬁwp-naﬁ:msﬁwﬁwﬁﬁwawﬁa
2 | dre gfay i ® i dicedr & fou w2 fawmeg g -

VJ\ V A
(a) (b)

N\,

\_/ {
\% V4
(© ]/\ ~ @
t}
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10. The radius of the nt! orbit in Bohr model of hydrogen atom is

proportional to :

1 1
(¢c) n2 d n

11. Hydrogen atom initially in the ground state, absorbs a photon which

excites it to n = 5 level. The wavelength of the photon is :
(a) 975 nm (b) 740 nm
(c) 523 nm (d 95 nm

12. The mass density of a nucleus of mass number A is :

(a)  proportional to Al/3

(b)  proportional to A?/3
(c) proportional to A3

(d)  independent of A K\Q&Q

(§§

13. An ac source of V@ge is_connected in series with a p-n junction diode
and a load resiStor. The correct option for output voltage across load
resistance will be :

V{/\ A%
(a) (b)
N\,
\_/ £

t
V VA
(c) /\ (d)
t £
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14. w%@%aﬁwﬁwwmﬁmwﬂﬁmﬁﬂmw
7, dl:
(a) 3G Ifcliy ¢ STaT R |
(b)  IE p-JhR 1 =TS &9 ATaT 2 |
(c) 3§ AdATe H U soiae faadi (81d) ¥ 31fYe 8 ¢ |
(d) TTEH (STMHF) T ST TCH] S JATd 2 |

15. n-JHR % Sich HAI-8Ug JRG H, =M 90 hl qafl Eg 3R Il Sl &R Epy
o o9 =AU sl hI Bl B

(a) 10eV
(b) 1eV
(c) 01eV
(d 001eV

J97 G&IT 16 T 18 3YFHIT (A) FRI (R) TR & Y97 8 | 3 %97 a0 70 § —
74 vk &1 3IFIT (A) TIT FRU(R) ZRT 37fbd 137 797 3 | @&l 3¢ 3
13T 71T IS (@), ), (c) 3T ??W&’?ﬁ?/

(a)  AfWH (@\@r{ HOT (R) HI &1 8 3T HRU (R), AR (A)
T A T B

(b)  SANTHAA (A) 3 HRU (R) THI T&l 8, T HRU (R), AMMHe (A) i
e AT 78T i 8 |

(c)  ANTH (A) Tl 3, T SR (R) TeAd 7 |
(d) IHI (A) TAd g 99T R (R) Ht Tid 2 |

16. 3BT (A) : 9 Tohelt I Hi B i fopelt FEH FrahT & § @1 T &,
ql & QT 39 B o Hd gifed & It @ |

HRU(R): W Toh T T8 ¢ |
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14. When an intrinsic semiconductor is doped with a small amount of
trivalent impurity, then :

(a)  its resistance increases.

(b) it becomes a p-type semiconductor.

(c) there will be more free electrons than holes in the semiconductor.
(d) dopant atoms become donor atoms.

15. In the energy-band diagram of n-type Si, the gap between the bottom of
the conduction band Eq and the donor energy level Ey, is of the order of :

(a) 10eV
(b) 1leV
(c) 01leV
(d 0-01leV

Questions number 16 to 18 are Assertion (A) and Reason (R) type questions. Two
statements are given — one lahelted Assertion (A) and the other labelled Reason
(R). Select the correct answergrom the codes (a), (b), (c) and (d) as given below.

(a) Both Assertion (A)-and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is also false.

16. Assertion (A): When a bar of copper is placed in an external magnetic
field, the field lines get concentrated inside the bar.

Reason (R): Copper is a paramagnetic substance.
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e (A) : Torell T o fohdl Q1 farmgatl < off= BT S BT R
HRU(R):  Topdt a6 wvfl forg &id @ @ gl W Ed 2 3R 36 YR

9 hedl § Sl id 3 |

STYHYT (A) : ThI-TTEId THTE TR i HUITCHS Fehid ol FHGRIG HLdT & |

HRU(R): <@g MG © Ak AGRAT o AT FehrI-faga g/ At
fafertort <A1 <feran & TwTaTd Bt 2 |

Qs @

ot AT F H AT V= (30 x 105 m/s) 1 & 39 & H vl e mw 2
Rred P gedm 85 B =[(04T)} +(03T) || foemm & | 38 &= § w0
1 T URERTerd BT | 1, 5 e k ATy #iR z ¥ & Y TP
Tfeer 8 AT TSI 0T o TIT 3TMeF R GeIHM UTd 4-8 x 107 C/kg % |

foreft aftedt fogga & S %R I gresh a9 R ufiad! gehg & &+
HRoT IRa faga & gokem Fifre | 30 o foraept Jeror siferes et @ feman
ST Tehal & 2 IMULITR I Ifte FifSw |

(%) w39 fagra &1 39T Hieh Fhel THaA qUT 1 foRet g eIl Wl
9% H A0 FHTA I8 W AYIGH quIH arer R i@ Eife |
Y o T oh 0 T FeImud ot Hifre |

teran
(@) 1uadl guarieh sl gl H qUEd] glaRieh sl WATHhdl Fi 4 STdl & ? &
T od FY A9 I ! gfee HifT |
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17. Assertion (A): The phase difference between any two points on a

wavefront is zero.

Reason (R):  All points on a wavefront are at the same distance from
the source and thus oscillate in the same phase.

18. Assertion (A) : Photoelectric effect demonstrates the particle nature of
light.

Reason (R): Photoelectric current is proportional to intensity of
incident radiation for frequencies more than the threshold
frequency.

SECTION B

A
19. An alpha particle is projected with velocity v = (3:0 x 105 m/s) i into a
- A A
region in which magnetic field B =[(04T) i +(0:3T) j] exists.

A A N
Calculate the acceleration of the particle in the region. i, j and k are

unit vectors along x, y and_z axis respectively and charge to mass ratio

for alpha particle is 4-8.X307 Clkg. 2

20. Consider an induged magnetic field due to changing electric field and an
induced electric field due to changing magnetic field. Which one is more

easily observed-? Justify your answer. 2

21. (a) Using Huygens’ principle, draw a ray diagram showing the
propagation of a plane wave refracting at a plane surface

separating two media. Also verify Snell’s law of refraction. 2
OR

(b) Why is a reflecting telescope preferred over a refracting telescope ?

Justify your answer giving two reasons. 2
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I 3R 41 AFAHT o Gl Tehatll holEeg TN I3 Th-go T AT Hid
g | it g1 W SAfeshan 3R =gaw digarei 1 Tg9 S1d i |

BRI W] i a0 Sl Tawel - 136 eV 7 | qTF I Fawem §
e ol feafas St ot wiferst Sott o 8 2

(%) 9 AR Auget E=TeTh! & o faved Hifu |
T
(@) sufeles sE IR sl srE d fFft pn @fy sie & V-1
JATYATRINOTRT h1 LTI HH o [0 giuy syaeen witay | faferes
RIS & V — I fenafire &1 sterg yefdia i |

geY # =ret $ifve 6 fordt p-n @Y sre # fomwor-ofin s1vamg 9w forg
TR Uftreht fova & Fmior 4 JireM it & |

Qug 1

(%) IR@ () H gy HFER R Froen & fopeft oo <l aftfr o a9m g w
A IRET 12@%wﬁ%%|mmsﬁﬁmésaﬁa§ﬁ%
%acmﬁg%,@aaﬁ?ﬁgﬁéamﬁﬁQ|

N
(@) aﬁaﬁ%@ﬁmw AW B=1 R % 120° & 919 W A
g W fed B, drheg C W faga fava sma i |

(1) (ii)
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Two coherent monochromatic light beams of intensities I and 41
superpose each other. Find the ratio of maximum and minimum

intensities in the resulting beam. 2

The ground state energy of hydrogen atom is — 13-6 eV. What is the
potential energy and kinetic energy of an electron in the third excited
state ? 2

(a) Differentiate between intrinsic and extrinsic semiconductors. 2
OR

(b) Draw the circuit arrangement for studying the V — I characteristics
of a p-n junction diode in forward bias and reverse bias. Show the
plot of V — I characteristic of a silicon diode. 2

Briefly explain how the diffusion and drift currents contribute to the
formation of potential barrier in a p-n junction diode. 2

SECTION C

(a) Twelve negative cQ}%@es of same magnitude are equally spaced and
fixed on the cir erence of a circle of radius R as shown in Fig. (1).
Relative to p tial being zero at infinity, find the electric potential
and elect@%‘ield at the centre C of the circle.

(b) If the charges are unequally spaced and fixed on an arc of 120° of
radius R-as shown in Fig. (ii), find electric potential at the centre C. 3

(1) (ii)
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(%) wfaty form gepr Ufemen @ 9= 8 2 ST Wor 3@ i ggrar § foredt
goft LCRtI'F{q?I,GﬁWWV:Vmsinwt@@ﬁH%,ﬁﬂﬁaTﬂT%

N SER RS
srrat

(@) &M@ v=v,sin ot, NEH o FI IiEfdq TR ST Fehal 7, § AT foRell
gt LCR U & TG o T 31 F1q HINT | 3 PRI 1 Ioci@
Hive 9 W FRet 20ft LCR aftwy & 311G g MR et & |
foreht 2ot LCR ity # oTigfd o @1y foR[d 9ry o ool &l g3+

e o @it |
B ¢ Y Torelht awelt witanforent § ufd uonies s § W0 I EET n g | 39

qReATfeTeRT | Wafed 9/ I = I sin ot 8 | 8% g i (Hhe 8k IR 3TN
N % <t 1g Fuselt wd L foradt 7 |

(%) puse d I fa.a1. 9 (emf) FMR ?

(@) FUsct TR qRATCTeRT & o= 3T Jehed o1 8 ?

HTEELTSH 1 Thvl-faga Fiehto fopet 91 & I56 | oiagi Scds shi SATE]
fohH YT hIdT @ ? 98T H RS HIT, |

(%) smufaa fafernset fafis, dsarst & fou yem-faga g w1 guEs
e forva o el forermur Ut Wit @3Iisy, ae
(@) fa foteton i disgar o T Yehrvl-faga om0 o fo=er i g9+ o
fore e Eifem |
(%) =TRSO Y] o fofu ol TR 3@ it | qei &3, g9 & 31k
3TATH & hi ATV} o TGIEY HhAUI ol 3fohd HITT, |
Freran

(@) fahm Theel & 0 g 9 & 919 999 a1 Ifd sty
oo &1 guia & foru om@ difau ik soehl @ famivareti &1 Seo@
FHIT | gooh ATRERT F T AR e I 81 8 2
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How does the resistance differ from impedance ? With the help of a
suitable phasor diagram, obtain an expression for impedance of a

series LCR circuit, connected to a source v = v, sin ot.

OR

Find the condition for resonance in a series LCR circuit connected
to a source v = v, sin ot, where o can be varied. Give the factors on
which the resonant frequency of a series LCR circuit depends. Plot
a graph showing the variation of electric current with frequency in

a series LCR circuit.

A long solenoid of radius r consists of n turns per unit length. A current

I = I sin ot flows in the solenoid. A coil of N turns is wound tightly

around it near its centre. What is :

(a)
(b)

the induced emf in the coil ?

the mutual inductance between the solenoid and the coil ?

How does Einstein’s photeelectric equation explain the emission of

electrons from a metal strface ? Explain briefly.

Plot the variation of-@Hotocurrent with :

(a)

(b)

(a)

(b)

collector piate potential for different intensity of incident radiation,
and

intensity of incident radiation.

Draw the energy level diagram for hydrogen atom. Mark the
transitions corresponding to the series lying in the ultraviolet
region, visible region and infrared region.

OR

Draw a diagram to show the variation of binding energy per
nucleon with mass number for different nuclei and mention its two
features. Why do lighter nuclei usually undergo nuclear fusion ?

3
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31.

55/1/1

1)

(i)

(iii)

1)

(i)

(iii)

[ 5
Ol

Qs ¥

feeR-dgfaehl ® falH 9 1 Ioch@ T 3R 38 A= <6
foq wfcy ®9 # fafaw |
‘e fram gt e d wffiferd gt & a1 % Yok W
MYRA g |’ S it |
QU AN A (3TE q) T B (3T 2q) HAM: g3 (0, 0) 3R
(a, a) W food@ & | A9 VT x-3781 3R y-3787 o STHCA Thih
wfew shwen: 1 @ § E 11 o] % wd § A B W IR
A F1d HINT |

Tt
ZaEﬁ%QWWﬁmqﬁ'{—q%aﬁw%@ﬁ%%
% ey gHad & forell fomg w0 fogrd & o foie st sgou
AITT |
et forgga foyaneh el wmaer ¢ ferm et e forg <t g
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SECTION D

31. (a) (1) State Coulomb’s law in electrostatics and write it in vector

form, for two charges.

(ii) ‘Gauss’s law is based on the inverse-square dependence on

distance contained in the Coulomb’s law.” Explain.

(iii) Two charges A (charge q) and B (charge 2q) are located at
A /AN

points (0, 0) and (a, a) respectively. Let i and j be the unit

vectors along x-axis and y-axis respectively. Find the force

A /AN
exerted by A on B, in terms of i and j. 5

OR

(b) (i) Derive an expression for the electric field at a point on the
equatorial plane of an electric.dipole consisting of charges q

and — q separated by a distance 2a.

(ii) The distance of a far off point on the equatorial plane of an
electric dipol&@lalved. How will the electric field be affected

for the di}@‘?
O

(iii) Two @tlcal electric dipoles are placed along the diagonals of

a square ABCD of side +2 m as shown in the figure. Obtain
the magnitude and direction of the net electric field at the

centre (O) of the square. 5
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32.

33.

55/1/1

1)

(i)

(1)

(i)

1)

[ 5

-

[
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&1 e =1 freifa &0 % fog 3w fran S 2 | =% 3d i
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32.

33.

55/1/1

(a)

(b)

(a)

(1)

(i)

(1)

(ii)

(1)

[ 5

-

Gl
State Biot-Savart’s law for the magnetic field due to a current
carrying element. Use this law to obtain an expression for the
magnetic field at the centre of a circular loop of radius ‘a’ and
carrying a current ‘I’. Draw the magnetic field lines for a

current loop indicating the direction of magnetic field.

An electron is revolving around the nucleus in a circular orbit
with a speed of 107 m s~1. If the radius of the orbit is 1071° m,
find the current constituted by the revolving electron in the

orbit.

OR

Derive an expression for the force acting on a current carrying
straight conductor kept in a‘magnetic field. State the rule
which is used to find the.direction of this force. Give the
condition under which ‘this force is (1) maximum, and

(2) minimum.

Two long’parallel straight wires A and B are 2-5 cm apart in
air.\They (carry 5-0 A and 2-5 A currents respectively in
opposite. directions. Calculate the magnitude of the force

exerted by wire A on a 10 cm length of wire B.

(1) Write two points of difference between an interference

pattern and a diffraction pattern.

(2) Name any two factors on which the fringe width in a

Young’s double-slit experiment depends.
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(i)

1)

(i1)
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(i1)) In Young’s double-slit experiment, the two slits are separated
by a distance equal to 100 times the wavelength of light that
passes through the slits. Calculate :

(1) the angular separation in radians between the central

maximum and the adjacent maximum.

(2) the distance between these two maxima on a screen
50 ecm from the slits. 5

OR

(b) () A spherical surface of radius of curvature R separates two
media of refractive indices n; and ny. A point object is placed
in front of the surface at distance u in'medium of refractive
index ny and its image is formed by the surface at distance v,
in the medium of refractive ‘index ng. Derive a relation

between u and v.

(i1) A solid glass sphere of radius 6-0 cm has a small air bubble
trapped at a %’Ks(gance 3:0'em from its centre C as shown in the
figure. T efractive-index of the material of the sphere is
1.5. F'\@%the apparent position of this bubble when seen
thr@%h the surface of the sphere from an outside point E in

air. 5
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SECTION E

34. The following figure shows a circuit diagram. We can find the currents

through and potential differences across different resistors using

Kirchhoff’s rules.
a . b R ¢
A\ 4
i Ry =50Q
E=60V
d
r=10Q b
h T
g\\Q g f
Answer the followin@!ﬁlestions based on the above :
A
(a) Which poi@s are at the same potential in the circuit ? 1
(b) What is the current through arm bg ? 1
(c) Find the potential difference across resistance Rg. 2
OR
(c) What is the power dissipated in resistance Ry ? 2
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60°

B C
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35. Strontium titanate is a rare oxide — a natural mineral found in Siberia.
It is used as a substitute for diamond because its refractive index and
critical angle are 2-41 and 24-5°, respectively, which are approximately
equal to the refractive index and critical angle of diamond. It has all the
properties of diamond. Even an expert jeweller is unable to differentiate
between diamond and strontium titanate. A ray of light is incident
normally on one face of an equilateral triangular prism ABC made of

strontium titanate.

A
60°
B C
N
g\
RN
Answer the follow1@1estlons based on the above :

Q
(a) Trace the path of the ray showing its passage through the prism.

(b) Find the velocity of light through the prism.

(c) Briefly explain two applications of total internal reflection.

OR

(c) Define total internal reflection of light. Give two conditions for it.
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